(TT¥69°CLY'S) ) aouejeg puny
u] aseatdaq/aseatduj [ejoL
%80'6 67°818°8VL'TT S 00'LET'S9E'6CT S 19N S43jsuel] pue sainjipuadxy jejol
%1586 8€706°£69°C 00°£T8'8EL'T 19N s49jsuel]g sasn/sa24n0S 12410
%STL 16°ST6°050°6 S 00'0T€9299ZT S sainjipuadx3 |ejoL
05'926'9C Aepn jende)
%ST0 7L°€68'TC 00'870°9TE'6 92138 1930
%86 7T 12°0ZL'09¢€ 00°LESLOV'T uoneinpy
%LT'9 7' 6SL°9ST 00°€65°00S°C uollealday pue ainyn)
%EV'V SLLEV'T 00°€80'9Z¢€ alejlam
%TT'8 STY80°TL 00'82Z°LL8 YijeaH
%9T°S LV'T9T9LT 00'9.Z7'STV'E uolejues
speoy pue shemysiHy
%L9'8 87°09L9T¥'S 00'¥SL 70579 A1d4es d1iqnd
%6T'9 6V TLT'V08'T 00'T6L'8LT'SY JUBWUIAA0YD |eiduaD
sainmipuadxy
%G8V 8T'¥21'9/79 S 00°LET'S9E'6TT S 1anQ Auie) pue anuanay |ejol
00'ST8'06T°C ¥10Z A4 wouy 19AQ Aured
%6t 8T'¥Z1'9/Z7'9 S 00°2ZEVLT LT S anuaAady |ejoL
%IS'€ 77'692'8T 00°L¥S'v08 snoaue||a2siy
%0¥'C €9'EV6'V6E 00°00T‘0S¥'9T sadlAleg Joj sabieyn
%ES'S 66'€S0TIT'T 00°04L°L16'0C |ejuswusanobiajul
%60°S Z1'950°49 00'00S'8TE'T sjiuLlidd pue sasuadl
%8T'S TTT08'vT9'Y S 00'S0¥'€79'L8 S sexel
SONUIAIY
123png ST/1€/0T ST/1€/01
JO0% S}nsay |enldy aomv:m ua4in)
STOT A4

Hoday 198png pun4 |eiauan
uolssiwwo) Ajuno) 3|iqo



's98uel paloadxa ulyllm aJe sanuanal pue sainiipuadxa yloq 1sn8ny ysnouay] -Ajsuenb pied aie jey) suonendoidde
Ajuewnid s1 Aso8a1e) uonzeanpy ayl -Modad S|yl uo 9480 Mojaq ag 0} sainjipuadxa 109dxa apn "9TOT JedA |BOSI) 9yl J0j SI9jSuel) pue
sainlpuadxa pa1adpnq [e101 JO %80°6 SISIUL " 67°8T8'SFLTT S @48 STOT 1290120 Y8nouy] siajsues) pue saunlipuadxa ajep 01 Jesh syl

‘Alenuef pue Jaquwalza( ul palda)|od

S| 3NUAA3J ISUIIN| SSBUISNQ pue anuaaal xel Auadoud ayy jo 1so "yiuow auo Ag Se| sanuanads solew uno Jo Auew jo 1disdsy
"3NUIN3I 9TOZ A4 PR198pNq JO %6 S1uasasdal syl * 8T'vZ1°942°9 $ S STOT 4290120 Y3nodyl anuanal ajep 0} 1edh unQ
“J1e3A |BISIE 9T0Z 2Y1 4O %8 pai1a|dwod arey am §TOZ 1200120 ysnoayl

ST0C Ad ANAnOY pung jeJauan
1oday 198png pung |eJauan
uoissiwwo?) Ajuno) ajiqoAl



